AT

AUTOGRIP MACHINERY

CL

S
Fh 7K By

- IRV M kSl FEECNCERR - T - stE M -

- BiEE - SERERKSNIMEY -

RESEFISTERL—F - B 57HESEH -

- FEFFKIRT - BALEYIHIZKHE A B -

- FBECTE M AL R IF S DING343ASE -

* THIFERFES 57  PAT.M380842 = | Kt : PAT.ZL201020113762.X =

BRARFBEN RAKXFFEN o _ ’
N BEFZRAAN BRARRN e B SAXFERAESN
i vk kN(kgf) kN(kgf) min”'(r.p.m.) (kgf/cm?)
(mm) (mm)
CL-26 45 3~26 4~22 4~18 17.6(1800) 37.9(3870) 8000 0.04 4.3 161E TK-A533 2.4(24)
CL-30 45 3~30 4~26 4~20 19.6(2000) 42.1(4300) 8000 0.038 4.2 163E TK-A533 2.7(27)
CL-36 6 3~36 6~32 6~26 22.5(2300) 48.5(4950) 6000 0.062 7 171E TK-C643 2.3(23)
CL-42 6 3~42 6~36 6~29 24.5(2500) 52.9(5400) 6000 0.06 6.9 173E TK-C643 2.5(25)
CL-52 6 5~52 8~45 7~36 27.4(2800) 59.0(6020) 6000 0.101 14.3 177E TK-A853 2.0(20)
CL-6017 6 5~60 8~52 7~42 29.4(3000) 63.7(6500) 5000 0.098 14.1 185E TK-1068 1.8(18)
CL-6022 6 5~60 8~52 7~42 29.4(3000) 63.7(6500) 5000 0.126 16.3 185E TK-1068 1.8(18)
CL-80 6 20~80 18~69 15~56 34.3(3500) 71.5(7300) 4000 0.108 17.8 193E TK-A1287 1.6(16)
N
L1
=
i ] )
| — 14 Z9% 08
i r
—~ /
<l olalx|sf ] gl 2
SIRSIRSERSIES I S &
M H_ —
by '
L] ;| - =
GJ_ |
~5 I - = '
! |
E1
(R B AAEE BT
I S S S S S S S N S S A
CL-26 120 85 100 10 82.6 4 23 26 3 7 2.5 15 12 M40x1.5 3~M10x25 16 4
CL-30 120 85 100 110 82.6 4 23 30 3 7. 25 15 12 M40x1.5 3~M10x25 16 4
CL-36 155 100 120 140 104.8 5 23 36 3 7 1 17.5 20 M55x2 3~M10x25 18 4
CL-42 155 100 120 140 104.8 5 23 42 3 7 1 17.5 20 M55x2 3~M10x25 18 4
CL-52 185 130 145.5 170 133.4 5 27 52 5 9 3 24 30 M60x2 6~M12x30 20 5
CL-6017 185 130 145.5 170 133.4 5 27 60 5 9 3 24 45 M75x2 6~M12x30 20 5
CL-6022 234 130 142 220 171.4 5 32 60 5 13 7 24 45 M85x2 6~M16x30 20 5
CL-80 234 156 163 220 171.4 5 32 80 20 15.5 9.5 22 45 MI100x2 6~M16x30 20 5

WWW.AUTOGRIP-MACHINERY.COM

AUTOGRRIP


https://www.autogrip-machinery.com/proimages/products/Collet-Chucks/Collet-Chuck/CL_img.jpg

